# NEW MEXICO OIL CONSERVATION COMMISSION Senta Fe, New Mexico

NUMBER OF COPIE		
011	TRIBUTION	
IANTA FE		
FILE		
U. S. G . S.		
LAND OFFICE		
	OIL	
TRANSPORTER	GAS	
PROBATION OFFI	C E	
OPERATOR		i

DEC 12 10 10 AM '63

## WELL RECORD

Mail to District Office, Oil Conservation Commission, to which Form C-101 was sent not later than twenty days after completion of well. Follow instructions in Rules and Regulations of the Commission. Submit in QUINTUPLICATE

If State Land submit 6 Copies

	mmanon. Sub						EA 640 ACRES WELL: CORRECT!, Y.
Cit	les Servi	ce Oil Co	mpany		Pate	(Lease)	WELL CORRES
	(Co	enpany or Opera	v a NTE 1/a	of Sec. 7	T	8S R	35E, NMPN
1 No		, in	/4 01/4	not De			Count
Mi	lnesand	SanAndi	<b></b>	P001,	2040	feet from	R. li
ll is	660	feet from	North	line and	T)20		Bestli
Section	<b>7.</b>	If St	ate Land the Oil and	Gas Lease No. i			
lling Comm	nenced	11-12	1	963 Drilling	was Completed	11-21	, 19
			etus Deilling	Co			***************************************
		Ser	n Angelo Tex	<b></b>			************************************
vation abov	e sea level at	Top of Tubing	g Head4254.1		The info	rmation given is to b	oe kept confidential un
······			, 19				
				SANDS OR ZO			
. 1. from	4587	to	4606	No. 4,	from464	<b>2</b> to	4645
0 5	4610	to	4618	No. 5,	from465	Qto	4653
. 2, Hom	1.626	tc	4630	No. 6,	from	to	
. 3, trom	4020						
				TANT WATER			
clude data	on rate of wat	er inflow and	elevation to which w	vater rose in hole	•		
. 1, from			to			eet	
. 2, from			to	*******************************			
o. 3, from			to			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
. 4. from			to			feet	***************************************
,				CASING RECOI			·
	<del></del>			KIND OF	CUT AND		
SIZE	WEIGHT PER FOO	T NEW USE		SHOE	PULLED FROM	PERFORATIONS	PURPOSE
8 5/8 <sup>H</sup>	24.00	No.	389.44	Larkin			
174	9.50		1.440 57	Larkin			
			MUDDING	AND CEMENT	ING RECORD		AND ACT OF
SIZE OF HOLE	SIZE OF CASING	WHERE SET	NO. SACES OF CEMENT	METHOD USED		MUD BRAVITY	AMOUNT OF MUD USED
אגרר	8 5/8H	401!	125	Plug			
6 5/8		<u> 4678</u>	200	Plug			
			RECORD OF 1	PODUCATOR	AND STIMITA	TION	
		(Record	the Process used, No	o, of Qts. or Ga	ls. used, interval	treated or shot.)	

(Record the Front Live)
Perf. 76h/4587-4606, 32h/4610-4618, 16h/4626-4630, 26h/4633-40, 12h/4642-45, 12h/4650-53
Acid 2500 gals. jelled acid, sand-cil frac. 25,600 gals lease cil + 24,500# sand.
Result of Production Stimulation
Depth Cleaned Fut 46661

## RECORD OF DRILL-STEM AND SPECIAL TESTS

If drill-stem or other special tests or deviation surveys were made, submit report on separate sheet and attach hereto

#### TOOLS USED

Cable	tools wer	e used from	n	feet to	feet	t, and from	n.	feet to	
					RODUCTION		**************	leet to	
Put to	Producir	ıg	12-5	19					
				•					
OIL V	WELL:	The produ	ection during the first 2	4 hours was	165		barrels of	liquid of which94	
		was oil;	% v	vas emulsion;	6	% wa	iter; and	% was sedi	ment A
	I	Gravity	29.9	******					ment. 71.
GAS W	VELL:	The produc	ction during the first 24	4 hours was		MCF	-1		
	j	liquid <b>Hvd</b> i	rocarbon. Shut in Press	•••	••	WI.G.F.	pius		barrels
Length									
PL	ease II	NDICATE	BELOW FORMATI	ON TOPS (IN	CONFORMA	NCE WI	TH GEOG	GRAPHICAL SECTION OF	STATE)
			Southeastern Ne	w Mexico				Northwestern New Me	
				T. Devonian				- ,	
. Salt	t		***************************************						
'. Yat	es. 26	62	••••••						
7 R	ivers	٠ دم			•••••				
				T. Ellenburger	r	********* **** *	Т.		
					•••••			Mancos	
					••••••			Dakota	
					er 4560			Morrison	
								Penn	
					•				
							T`.		
141122					·····		т.		
	<del></del>			FORMAT	TION RECO	ORD			
C	_								
From	То	Thickness in Feet	Forma	ation	From	То	Thicknes		
-0-	1045			ation	From	То	Thicknes in Feet	s Formation	
-0- 45	1045 2120	in Feet 1045 1075	Redbeds Redbeds & Sa	ilt	From	То			
-0-	1045 2120 2314	in Feet 1045 1075 194	Redbeds Redbeds & Sa Anhy. & Salt	elt ;	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881	in Feet 1045 1075 194 961 606	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp & Anhy. & Gyp	alt ; Salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp & Anhy. & Gyp Delomite & A	alt ; Salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881	in Feet 1045 1075 194 961 606	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp & Anhy. & Gyp	alt ; Salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp & Anhy. & Gyp Delomite & A	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Dolomite & A Dolomite	salt	From	То			
-0- 45 20 14 75	1045 2120 2314 3275 3881 4570	1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp & Anhy. & Gyp Delomite & A Delomite T.D. 4680 Dril	salt inhy.			in Feet	Formation	
-0- 145 20 114 775 81 70	1045 2120 2314 3275 3881 4570 4680	in Feet 1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Delomite & A Delomite T.D. 4680 Dril	Salt  mhy.  ler  TE SHEET IN	FADDITION	AL SPAC	in Feet	Formation	
-0- 145 20 114 75 81 70	1045 2120 2314 3275 3881 4570 4680	in Feet 1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Delomite & M Delomite T.D. 4680 Dril	Salt  mhy.  ler  TE SHEET IN	FADDITION	AL SPAC	in Feet	Formation	
-0- 145 20 114 75 81 70	1045 2120 2314 3275 3881 4570 4680	in Feet 1045 1075 194 961 606 689 110	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Delomite & A Delomite T.D. 4680 Dril	Salt  mhy.  ler  TE SHEET IN	F ADDITION a complete and	AL SPAC	EE IS NE	EDED the well and all work done on	
-0- 145 20 114 775 81 70	1045 2120 2314 3275 3881 4570 4680	in Feet  1045 1075 194 961 606 689 110  or affirm to from avail	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Anhy. & Gyp Delomite & A Delomite T.D. 4680 Dril  ATTACH SEPARA that the information gif diable records.	Salt  Inhy.  Ler  TE SHEET IF  ven herewith is	F ADDITIONA a complete and	AL SPAC	E IS NE	EDED the well and all work done on	
-0- 145 20 114 775 81 70	1045 2120 2314 3275 3881 4570 4680	in Feet  1045 1075 194 961 606 689 110  or affirm to from avail	Redbeds Redbeds & Sa Anhy. & Salt Anhy. & Gyp Delomite & M Delomite T.D. 4680 Dril	Salt  Inhy.  Ler  TE SHEET IF  ven herewith is	F ADDITIONA a complete and	AL SPAC	in Feet  E IS NE	Formation	(e)

- Cities Service Cil Company #1 Pate A: Sec. 7-T83-R35E, Roosevelt Co., Hear Mexico
- Cere #1: 4570-4616 rec. 46', 2' dole., good pers., 7' dole., dse. to tr. pers., n.s., 3'6" delo., fair to good pers., bldg. cil & water, 4' dole., dse, n.s., 14'6" delo., fair to good pers., frac., bldg. cil & water, 15' dele., dse. to tr. pers., frac., vugge, S.S.O.
- Core #2: 4617-4666 rec. 49', 10' delo., anhyic, dse., bldg. water, 7' delo., good p.p.p. bldg. eil, 2' delo., anhy., dse., n.s., 5' delo., fair to good p.p.p., bldg. eil & water, 4' delo., anhyic, dse., frac., n.s., 2' dele., fair to good p.p.p., bldg. eil, 6' delo., dse.,ns, 5' delo., fair to good p.p.p., bldg. eil, 6' delo., frac., bldg. water.

Section of the section

### SPELL AVIT

	New Mexico		Cities Serv	ice Oil	Congress y
ing Den beginsklij	Roosevelt	Angelium (1975) in company of the form	lysse inc	Pate A	celle lio.
			a. 364	<b>%</b>	35B
			and the second control of the second control		and the second s
					Broke of
	ico - E. H. Fu	ETTET	en e	para sugar Sussi	ng tilosy calp
Spart State	ar fille grant 743	iosko remeikogusandi s trakeko odila efilik grupa rehusan dest od	havit and is fully	a grain but	lease am la c <mark>uly</mark> with eid facts
	Jephl	Urgrend De	A Section of the sect	18143.48 18143.48	lesti
.25 .50 .75 1.00 1.00 1.00 1.00	402 899 1385 1873 2162 2662 3050 3400 3772 4270 4680				

## NEW M. JICO OIL CONSERVATION COMMISS. N. Santa Fe, New Mexico

(Form C-104) Revised 7/1/57

## REQUEST FOR (OIL) - (GAS) ALHOWABLE C.C.C.

New Well Recompletion

This form shall be submitted by the operator before an initial allowable will be residued to any completed. Oil or Gas well. Form C-104 is to be submitted in QUADRUPLICATE to the same District Office to which Form C-101 was sent. The allowable will be assigned effective 7:00 A.M. on date of completion or recompletion, provided this form is filed during calendar month of completion or recompletion. The completion date shall be that date in the case of an oil well when new oil is delivered into the stock tanks. Gas must be reported on 15.025 psia at 60° Fahrenheit.

- 11100	ile server and	. •	•		Hobbs, N	ew Mexico		12-6-63
					(Place)			(Date)
E ARE I	HEREBY RE	QUESTI	NG AN ALLO	WABLE FO	OR A WELL KI	NOWN AS:	W	. WE
Citie	s Service	Oll Co	mery.	Pate A	, Well No.	<b>1</b> , i	n	1/4
(Cc	ompany or Oper	rator) 7	- AS	2 35B	NMPM	Kilnesand		Po
Unit 14	, 566 ptter	<b>[</b>	1	, <b>N</b>	, 141411 141.,			33 em /s
Reces	welt		County. Da	te Spudded	11-12-63	Date Drilling	Completed	17-51-07
	se indicate lo		Elevation	4204 UE	Tota	l Depth	PBID_	4000
		<del>,                                    </del>	Top Oil/Gas	Pay 4587	Name	of Pred. Form.	DER ARKI	
D	C B	A	PRODUCING IN					
			Perforations	4587-460	6,4610-18,46	26-30,4633-4	0,4642-45	4650-53
E	F G	H	Open Hole	-	Dept Casi	h ng Shoe <b>4677.7</b>	L Depth Tubing	
L	K J	I	OIL WELL TES			bbls water		Cho
					1			
	· · · · · · · · · · · · · · · · · · ·	P	Test After A	cid or Fractu	ire Treatment (aft	er recovery of vo	lume of oil ed	choke •
M	N O	P	load oil use	(d): )1.64	bbls.oil, 3.50	bbls water in	hrs,	min. Size
			GAS WELL TES	<u>I</u> -				
			Natural Prod	i. Test:	MCF/	Day; Hours flowed	Choke	Size
ıhıng Ca	sing and Geme	nting Reco				etc.):		
Size		Sax				*		s flowed
	1		1		og of Testing:			
8 5/8	389.44	125						
,1=	1600 70	200	Acid or Frac	ture Treatmen	t (Give amounts o	f materials used,	such as acid,	, water, oil, a 
42"	4683.72	200	sand):25	00 gals.	acid; 25,600	gals. ell +	24,5007	HEDG.
2"	4600.69	packe	Casing Per	Tubing ◆ Press・_	oil run t	st new Des,	4, 1963	
			Oil Transpor	ter The	Permian Corp	eration		
		·	Gae Transpor	rter	•	_		
marks	*************************	••	*********	•		******		
<b></b>		••••••		•••••				
				ahava is ter	e and complete	to the best of my	knowledge.	
I here	eby certify th	at the ini	ormation given	above is un	C1	ties Service	Oil Comp	<b>M</b> y
pproved.	· · · · · · · · · · · · · · · · · · ·			, 19		(Company	or Operator)	
_		17 A 77 T / 12	TOMMISSI	ON	By:	Kilietz	<u>~~</u>	
	HE CONSER	CVALIUN	OMMISSIO	O14	•	(Sign	ature)	
14	A-1-		*****			trict Clerk	<del></del>	-11
ý <b>≯</b>	<del>-</del>	· · · · · · · · · · · · · · · · · · ·	***************************************		36.	nd Communicatio		well to:
itle			***************************************		Got Name	rge M. Geyer		
						x 69 - Hobbs	, Hear Max	100
					A didress			